
Strong Acid: weak Acid :

Today, February I9th

HBr4TItz't Br- HAET-tz-fmtae-kiij-4.gg?ngorrow:

↳ template
• strong CHZOTJCAT

Warm- up # l : acid ¥
wwnmafisnfnenptt Ota0.075M solution?
[Hyo'T '0.075M
pH =

-

log (0.075)
= t - t 2

What is the pH of 0.050M benzoicacid , solution HC 7h50slag)
warm- up #2

: or"HBt'' K'atBr = 6.5×10-s
ummm

M HBZ + H2OF-Hzot + BE K'atBt=CHzE7B{#g⇒ = 6.5×10-5
I 0.050 O O

[ In tf +¥ to.ox÷× -- 6.5×10-5 →0%-0=6.5×10
's

E 0.050-X X
-

- 1.80×10-3
✓bigger, the better cuz0+7=7.0×10-3*

"

400 - rule
"
: Is CHKB.gg#Is4oo.itso,x--smau-en0U9h1pH=2v94Jto drop !
(
smaller

, thebetter

ka= 1×10-2

T.io?ooLBese
percent Dissociation

= 100-1. * HITS
,
=l3

what isthe ka of a weak acid thathas a pH -3.63 as a O- 200M solution ?

M HA t H2O 7- Hzot + A
-

K a.
=

CHzoffn.gr#=X2- = (2.34×1041210.200O O
*passes affirm

0-200 I
c - x X X CHgot]

= to
- P" spot3.63=12.34×10-47- -

- -

E 0.200 - x X X



Taff.gs#eis9iIoi9ssiF.ifings/ka=z.Ox-pka---1ogka=6.s@889996dm
-

ma' ! February lath
ka -- 10

- pKa Show mud of # do
I keep ??

lstwngn-c.io# CHZO'T- Cott}HBrtHJzHztt Br- I
Esteemplate ! pH- pot

lweakaa.IM template! put pot = 14.00

HA tfHzOTt A - Kath → What is the pH Of a 0.32M F
-

solution ?

TCOHJCH.FI/StwngBases---gwupIhydroxides M F
-

+ H2o2 OH- + Hf Kbt
-

=

#
I 0.32 O O * passes↳ LiOH

,
NaOH

,
KOH

,
etc. o

900 = 2.9×10
' "

e .×
' ' m%=o!×

NaOH lag)sNat t OH
-

E
> OH
- Ioxjg-z.gxio.li/ex:wnatisthepHotaz.9xlo-4MNa#aq1s0in? E tf>goofs 3694×51%6%0

[OH-3=2.9×10-4M
"strong *conju ate weak acid tweak base pairsbase
-

pot
-
- - log (2.9×10-4) Weak ①0idgmacidic conjugate weak base
=3 .57
- towest_pH-

pH, go.FI/sigtigs !
HF KE't ' 3.5×104 f- kbf

-

= 2.9×10
-"

ftp.zkgt/BZ=6.5xlO-sBz-kbBZ'= 1.5×10- w

IWEAKBUS.es# HOO , Kat"" ' 3.5×10-8 001 - Kbo"
'

-
- 2.9×10-7=A- It H2O F- OH - t HA E best weak

q
- base

, highest
weak

↳
template!

'
conjugate weak Acid pH

base
weakacid -

HF t Hz02 Hzott f- Klatt '
c. weak base
-

Hft Oct- Is F -THOU Kj ? f- +Hyo 2 OH - t Hf KE '
↳
Hft H2O Z Hzot t f

-

Kath =3.#4

Oct
- tH30tFHz0tHOc1k=z .#Yoyo

← Hzot TOH
'

Kw = KEE* KE
-

-
8

Ttl €ah..)Kw= Ka * Kb
1.0410

' '" = 3.0×10-4 * Kbf
-

YKbt=2.9×1


